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2. PLANBJAUB) = ( p(XU(B) D = PEAuBg = p(A)+P§B)—1l(AmB)

_ P(A)-P(B) _ 0.2  _
= P(A)+P(B)—P(A)P(B) — 0.9-02 _

~IN

Sokes P(n < 1)
Py <1)=P(n=0)+Plr=1)=(1- 25 +6-2(1 - 2)°

€

5. Q¢ ={0,1,2} Handelsen "¢ = ¢" betecknas k;.

(
P(J)=PU)=1

P(ko|U) = %,P(k1|U) = %,P(k2|U) =0
P(kol7) = (3) (3)°(3)* = 1

P(ki|D) = () (3)'(3)' =3

P(kelD) = (3) (3)°(3)° = 1

Berdknar nu alla P(k;),i = 0,1,2 ur formeln (x)

Pk)=3-3+3-3=1
Plk)=3-3+3-3=}
P(ky)=3-3+3-0=14.

6. £ ~ Bi(100, 3)

PE=k) = (') (3 = () ()™
a) P(¢ = 60) ~ 0.0108
b) de M-L, se foreldsningen sid 64.



